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Deelogxqj 6143= Pdvvhqvshnwuhq Mhw0jhn�xkowhu FV20Lvrwrsrphuh +d, xqg hlqhv Jhplvfkhv

dxv Mhw0jhn�xkowhq xqg *zduphq* FV20Prohn�xohq +e,/ dxijhqrpphq i�xu vlpxowdqh +� @ 3,

Hlqvwudkoxqj ghv Sxpslpsxovhv ehl �� @ 539=8 qp xqg ghv Surehlpsxovhv ehl �2 @ 5:8=6
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Deelogxqj 6144= FVn2 0Lrqhqvljqdoh dov Ixqnwlrq ghu Yhu}�rjhuxqjv}hlw � i�xu mhzhlov yhu0

vfklhghqh Dquhjxqjvzhoohqo�dqjhq 53918 qp +d,/ 5381: qp +e,/ 536 qp +f,/ 5331: qp +g,/ 4<:

qp +h,/ 4<61< qp +i,1 Gdv Wroxrolrqhqvljqdo +j, lvw }xp Yhujohlfk dxijhi�xkuw1
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Deelogxqj 6145= +d, Su�dglvvr}ldwlrqvohehqvgdxhu ��( yrq FV2 lp V�0]xvwdqg lq

Dek�dqjljnhlw yrq ghu Dquhjxqjvhqhujlh +k�� b ���,1 Glh Jhrphwulh�dqghuxqj }x hlqhu olqhduhq

Vwuxnwxu ehl k�rkhuhq Dquhjxqjvhqhujlhq lvw dqjhghxwhw1 +e, Sorw yhuvfklhghqhu Ohehqvgdxhu0

phvvxqjhq glhvhv ]xvwdqghv dov Ixqnwlrq ghu Dquhjxqjvzhoohqo�dqjh lp Ehuhlfk +4<4 0 545,

qp1 +�, Glhvh Duehlw/ gluhnwh Phvvxqj> +�, Kdud xqg Skloolsv ^KS:;`/ Ioxruhv}hq}txdqwhqdxv0

ehxwh> +Q, Ol xqg P|huv ^OP<4`/ Uhvrqdq}0Udpdq0Ghsrodulvdwlrqv0Yhuk�dowqlv> +�, \dqj hw

do1 ^\IN;3`/ Surgxnwzlqnhoyhuwhloxqj> +�, Edurqdyvnl xqg Rzuxwvn| ^ER<7`/ gluhnwh Phv0

vxqj> +K, Zdoohu xqg Khsexuq ^ZK;:`/ Surgxnwzlqnhoyhuwhloxqj> +
, Olrx hw do1 ^OGK<5`/

Olqlhqeuhlwh dxv vlpxolhuwhp Edqghqsur�o1
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Deelogxqj 6146= ]hlwdek�dqjljh Lrqhqvljqdoh i�xu glh yhuvfklhghqhq Lvrwrsrphuh F�2V2 +d,

xqg F�2V�eV +e,1
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Wdehooh 614= FV20�Xehujdqjviuhtxhq}hq xqg uhodwlyh Lqwhqvlw�dwhq +dxv Uhi1 ^KOU;6`, lp Klq0

eolfn dxi glh Dquhjxqjvhqhujlhq ghv klhu yrujhvwhoowhq H{shulphqwhv1 Glh Olqlhq ehl 7;17:5

fp3� xqg ehl 7;1835 fp3� +plw *d* jhnhqq}hlfkqhw, vwhoohq }zhl Krwedqghq gdu/ glh yrq

y
��

2 @ 4 +Elhjhprgh, lp �	n
} 0Juxqg}xvwdqg dxvjhkhq1 Glh Zhuwh ghu olqnhq Wdehoohqk�doiwh

olhjhq Dee1 6144 }xjuxqgh1 Ehl ghq Dquhjxqjvhqhujlhq ghu uhfkwhq Wdehoohqk�doiwh zhughq

mhzhlov }zhl Nrpelqdwlrqvprghq vlpxowdq �xehughfnw1
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Deelogxqj 6147= Devruswlrqvvshnwuxp Mhw0jhn�xkowhu FV20Prohn�xoh lp Hqhujlhehuhlfk yrq

+7;1333 0 851333, fp3� +Uhi1 ^KOU;6` hqwqrpphq,1 +d, FV2 urwdwlrqv0 xqg vfkzlqjxqjvp�d�lj

ndow +e, FV2 urwdwlrqv0 xqg vfkzlqjxqjvp�d�lj zdup +glh Sxqnwh pdunlhuhq *Krwedqghq*0

�Xehuj�dqjh,1 Glh Vfkzlqjxqjvtxdqwhq}dkohq y� xqg y2 eh}lhkhq vlfk mhzhlov dxi glh v|p0

phwulvfkh Vwuhfnprgh +��, xqg glh Elhjhvfkzlqjxqj +�2, yrq FV21
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Deelogxqj 6148= Looxvwudwlrq yrq Txdqwhqvfkzhexqjhq lp }hlwdek�dqjljhq Lrqhqvljqdo1 Lq0

qhukdoe ghu vshnwudohq Euhlwh �$ ghv Dquhjxqjvodvhulpsxovhv zhughq }zhl Qlyhdxv ghu

Ohehqvgdxhu ��( plw ghp Hqhujlhdevwdqg |
2� vlpxowdq dqjhuhjw xqg n�rqqhq dxijuxqg

ghu vshnwudohq Euhlwh ghv Surehlpsxovhv }x ghpvhoehq ]xvwdqg lp Lrq jhi�xkuw zhughq1

Gdv }xjhk�ruljh }hlwdek�dqjljh Lrqhqvljqdo zhlvw gdqq ghp h{srqhqwlhoohq ]huidoovyhuodxi

�xehuodjhuwh Rv}loodwlrqhq dxi/ glh Txdqwhqvfkzhexqjhq }x}xrugqhq vlqg1
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Deelogxqj 6149= FVn2 0Lrqhqvljqdo dov Ixqnwlrq ghu Yhu}�rjhuxqjv}hlw � ehl ghu Zhoohqo�dqjh

53417 qp +d,1 Glh xqwhuh Nxuyh +e, jlew glh Gl�huhq} }zlvfkhq ghp jhphvvhqhq Vljqdo xqg

ghu Dqsdvvxqjvnxuyh zlhghu +vlhkh Wh{w,1
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Deelogxqj 614:= FVn2 0Lrqhqvljqdo lq Dek�dqjljnhlw yrq ghu Yhu}�rjhuxqjv}hlw � ehl ghu

Zhoohqo�dqjh 4<814 qp +d,1 Glh xqwhuh Nxuyh +e, jlew glh Gl�huhq} }zlvfkhq ghp jhphvvhqhq

Vljqdo xqg ghu Dqsdvvxqjvnxuyh zlhghu +vlhkh Wh{w,1
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Deelogxqj 614;= FVn2 0Lrqhqvljqdo dov Ixqnwlrq ghu Yhu}�rjhuxqjv}hlw � ehl ghu Zhoohqo�dqjh

5371: qp +d,1 Glh xqwhuh Nxuyh +e, jlew glh Gl�huhq} }zlvfkhq ghp jhphvvhqhq Vljqdo xqg

ghu Dqsdvvxqjvnxuyh zlhghu +vlhkh Wh{w,1
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Deelogxqj 614<= ]hlwdek�dqjljhv Lrqhqvljqdo *zduphu* FVn2 0Prohn�xoh ehl ghu Zhoohqo�dqjh

53916 qp +d,1 Glh xqwhuh Nxuyh +e, jlew glh Gl�huhq} }zlvfkhq ghp jhphvvhqhq Vljqdo xqg

ghu Dqsdvvxqjvnxuyh zlhghu +vlhkh Wh{w,1
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